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end
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| end
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>> f=inline({'x.”3+6*x-2","'x");
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A 1 t=linspace(@,2*pi,100); x=2*cos(t); y=2*sin(t);
2 plot(x,y); axis square
[
[
[
|
I ¥

>> untitled
>> untitled

_ﬁ!;))
v

e B2l(v) 490 M

S0 NE

EESS1STh)

1.5

0.5 7




ol g’—cj % % %I
M2 Bts7] @7 ME oy v 05 A=

7| - =
2|5 e 2
v v - = - A2 - v LR
o B AL
P Ha P C: » Users » ST » Desktop »
. @ [ A BET| - CWUserswe FSWDesktop#untitled.m
| untitted.m |+ |
A 1 t=linspace(@,2*pi,100); x=2*cos(t); y=2*sin(t);
2 plot(x,y); axis equal
I
I
I
I
EE

>> untitled
>> untitled
> untitled

>
AN >>

W

M 7

- W]

0.5

-1.5

e B2l(v) 490 M

S0 NE

d23ED Hw =FZH)

||III
|
[
\
N
e
7 -1

2| E




Mz 2=7] 27|

ﬁ@ % % %I
EI”—."in%' ol @

- W]

v v - = - A2 -
I ER Ac
P Ha » C: » Users » 9T » Desktop »

. @ [ A BET| - CWUserswe FSWDesktop#untitled.m

| untitted.m | + |
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] test.m

fp=fopen('test.m', 'w');
fprintf(fp, '%d %d\n',1,2);
fprintf(fp, '%f %f\n',3.5,4.5);
fprintf(fp, '%e %e\n',1e0,1000);
fclose(fp);

>> a=load('test.m'):

1.0e+03 *
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0.0035 0.0045
0.1000 1.0000
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